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Item No: 64

Question ID: 1569464

Question Type: | MCQ

20 mL NaClell 10 moles ¢lARL 12 M4 dlesdl SNl Hlaz dlesdl A, &

Question: 27 80 mL NaClell 20 moles glaRlell A , 8. «ia SN 43 veleld 4dl
dlesdl UHIA 8. A, ¥ A, el dedy 1],

A: Ami = 2Am1

B: Amﬂ = Am1 ";2

C: Anﬂ = Anﬂ

D: Anﬂ = 4Am1

Topic: Chemistry-Section A

Item No: 65

Question ID: 1569465

Question Type: | MCQ

Question:

(124 estlde HI2 «f1A 106 [Quletiiel 53 u1R & 2
A, [HA9 osilg2 W W5 G LIAUS UsH B,

B. (HAd uslde ¥1 u5 GI20Ns UsH B

C. We2 Ul 32512 tol B,

D. WUl 3512 b1 8.

$5d (A. D)

§5d (A. C)

$5d (B. C)

oloN® >

55 (B. D)




Topic:

Chemistry-Section A

Iltem No: 66
Question ID: 1569466
Question Type: | MCQ

Question: Be. B. N 2ol O of| Uei % [Uo{] 52031 4ot @[] 5HA 24ef42 D ...
A: O<N<B <Be
B Be<B=N<=0
C: B<Be<N<O
D B<Be<O<N
Topic: Chemistry-Section A
Item No: 67
Question ID: 1569467
Question Type: | MCQ
o1 & [Qelefl 241041 8.

[cellel T : el AIWS (Cast iron) U1 LR SIWS (Serap iron)el ARH 51

Question: 513 1S (Pig iron) Holdl 21514 9,
[t let 11 : @RclR Aludsedl AIA&HI 51U dluisHi sloleds el 200 slu 8.
of|2 24104 (At lel=tl Aeelii «{1A w1104l [asedluiel] A1l wdie ye 52

A: ool [qelet T 2o (Qelet T 111 D,

B: ool [qe (et T 2o (delet 1 2111 =l

C: (Qeilet 121 B, U (qeitet 1wl B.

D: (qeilst Tullg 8., udd [Adlst 11 11y B,

Topic: Chemistry-Section A

Iltem No: 68

Question ID: 1569468

Question Type: | MCQ

Question: B [d 2Leg, (>99.95%) SIUEISSIe «{[Aetl 43 Hnq 1A B d 204,

A: (535 12 esefla vi1eslo{] ulsuiel

B W [2oH 6585215011 QUL 531 W [R1[55 ULelle] (et ioet

C: [(54 $a52151 94 g1l vl ARUH SISSISUISS ¢ldle] wn (a2l
D [5b5 2118 He, 2 (15e1l ulsu el

Topic: Chemistry-Section A

Iltem No: 69




Question ID:

1569469

Question Type:

MCQ

Question: The correct order of density is
A Be>=Mg=>=Ca>5r

B sr=Ca>Mg=>Be

C: Sr>Be>Mg=>Ca

D Be>Sr>Mg>Ca

Topic: Chemistry-Section A

Item No: 70

Question ID: 1569470

Question Type: | MCQ

o1 w4 10e ALEIHT WRASs 251155161l 56 vl 20,

Question: | (NO. N0, B,O5. NyOs, CO, SO5. P;010)
A: 3

B: 4

C: 5

D: 6

Topic: Chemistry-Section A

Item No: 71

Question ID: 1569471

Question Type: | MCQ

o1 w104 "id Hslell HI2 waDNlell Gl URD 54 AL

Question: } 52 i i ) 3
A [Ni(en)s]°". B : [Ni(NH;)g]"". C : [Ni(H,0)g]

A: C<B<A

B: B<C<A

C: C<A<B

D: A¥XC<B

Topic: Chemistry-Section A

Item No: 72

Question ID: 1569472

Question Type: | MCQ




a1 A2 Y[ 4 oAsL

YR yam
A U2 1 sl2silals (Fqatlals)
_ B. §912185 1L 1551 9oi] edl
Question:
C. [512le 1L 345 UL
D. Al [suH w1152 IV, det2U(del1215
o120 2 04| [aseiuigd] URDl alel ue 53,
A: A-TI, B-III. C-TV, D-I
B: A-TV, B-III, C-I1, D-1
C: AT, BT G-I DIV
D: A-TIL BAIL C-1V, D-I
Topic: Chemistry-Section A
Item No: 73
Question ID: 1569473
Question Type: | MCQ
of |3 24106 WsU ] Yoy oy 201l
Question: NOW _2HBr |
0
Br
)\H/O\/\/Br
A:
0
Br Br
B: /H_I,D\/L\
0
Br Br
C:
0
Br
D: Br \/\H/O\/\
0
Topic: Chemistry-Section A

Item No:

74




Question ID:

1569474

Question Type:

MCQ

of |3 24106 Ws5U U] Huay of|uey 2014l

Question: y_ O
H>0
8]
(0]
A:
il o
O OH
B:
H
0 0
C:
H
O
D:
H /LK”_)\
Topic: Chemistry-Section A
Item No: 75
Question ID: 1569475
Question Type: | MCQ

o1 WG IA Gddl 155 UiHed uH LBl sHHI 64,

53,0,9

Question:
OCH
2 3
NG, OCH,
(A) : N
(B) (C) (D)
A: A=B=>=C=D
B: B=A>=C>D
C: D>=C>=A>B
D: D>C>B=>A

Topic:

Chemistry-Section A




Item No: 76
Question ID: 1569476
Question Type: | MCQ
Question: CHs TRz e CHS::E 7o A 0* B Zr;I—CI;Ig &
C o {13 iy 2wl 21l
A: CH3- CHy- CHy- CHj
0
B: ||
CHj3- CHy- C- CHy
OH
C: |
CH3- CHy- CH- CHj
D: CH3- CHy- CH=CH,
Topic: Chemistry-Section A
Item No: 77
Question ID: 1569477
Question Type: | MCQ
T Al
WEds gl
A <lddld 6.6 1 9l (wike) (ldeldly
B. (o4 tetdl Ul(aeil« IL. ollet-2 s Al
Question:
C. G teldl QL [aels IIL. 621 HIRsil ldl
D. 25€led IV. 3551
o120 241061 [asedluie] ARl gl e 52,
A: A-IIL B-1. C-IV. D-II
B: A-IIL B-IV. C-1. D-II
C: A-IL. B-I. C-IV. D-III
D: A-II. B-IV. C-I. D-III
Topic: Chemistry-Section A
Item No: 78
Question ID: 1569478
Question Type: | MCQ

Question:

0-04519%e1l C1 sl p-g52lell €2 d2efl 261U 51U 1[5 (5 (vigst)
Al el HA B a 2AlH).




A: Hle2l

B: Y5l

C: q521o

D: wWHUEl»

Topic: Chemistry-Section A
Item No: 79

Question ID: 1569479

Question Type: | MCQ

edls uiINH] GAlusl 15 22 oflsldla e1ed oo w2 1S B. dl

Question: )
w22yl Qetl Al onild B 2

A: »{ (5 22110

B: Al Rs @l

C: w5 el

D: U4 RS 2l

Topic: Chemistry-Section A

ltem No: 80

Question ID: 1569480

Question Type: | MCQ

[He1s5a i13oe1l (sl gl g 2ldaH (eig 1Al vl 520 &

Question: 5

A: [5qsilell6S 22U
B: (AN (s 29y
C: [5etlefls 2y

D: Wohed|69S 2y
Topic: Chemistry-Section B
ltem No: 81

Question ID: 1569481

Question Type:

Numeric Answer

56.0 L ell621o%et A=l dy USdl el8Sloset diy 21 (18 s2aHl 41 § e

Question: ofldl 4] % 20 L WML (AUl A1y Gzt &l B, dl Hoil 141849 4uidur(Ag
(AURIAE = eld ddl) w162l d1y L8
Topic: Chemistry-Section B

Iltem No:

82




Question ID:

1569482

Question Type:

Numeric Answer

2 dm’ &Hdl A1l ¥15 oY 56125 11 g UlUed A1y "2 8. §6135 vled] wid]
ool B % o] £o181 2 MPa 5l Al dl d 42l 2. dludlel 3 Bell U sAls

Question: del 2 d °C .. [(1%9)5<1l YLuls]
(U : R =8.3 TK ! mol'l) C al H ol UM €01 viefsH 12 A 14 B
16l B ulled 215 241620 41y 215 ad &)

Topic: Chemistry-Section B

Iltem No: 83

Question ID: 1569483

Question Type:

Numeric Answer

Question:

n = sHiell H uH 19Tl Galod S8 s2lst oLl Hal vz Hi U § IR %ldl

Hdl Gosel Ivdiadlef] HedH Huul 8.
Topic: Chemistry-Section B
Iltem No: 84
Question ID: 1569484

Question Type:

Numeric Answer

G 1oL [dsla vloL 23 s2dl el AR 28 (Qael «{1A uniel Wadlsedl

Hoe],
HCI + NaOH — NaCI + H,0 AH =—57.3 kI mol-1

Question: CH;COOH + NaOH — CH;COONa + H,0 AH = —55.3 kI mol-1
[azuiel] glaia1.id?l 536 cH;COO0H ol w121 [e5211 2wt 1] kJ
mol ! 8.

Topic: Chemistry-Section B

Item No: 85

Question ID: 1569485

Question Type:

Numeric Answer




R TLEE TN CEEERITES
CH;N,CH;(g) — CH;CHs(g) +N,(g) 241 25 UeHsH U5l 8. 600 K U2 A4

U1 wil21s ewlui [@laydl «12 2410e B,

T w 3.465 = 104
In LJ

Question:
| pO
Us
ulsloll 2 YL < 10755 B, [129 51l Yalls]
Topic: Chemistry-Section B
Item No: 86
Question ID: 1569486

Question Type:

Numeric Answer

Xe0;. XeOF ; ol XeF ol Healel URHIQH] €% S8 521101l 0{d 5125 Y2H]

Question: .
(Muly 5125 965211 Youl)edl 56 A4 101l 8.
Topic: Chemistry-Section B
Item No: 87
Question ID: | 1569487

Question Type:

Numeric Answer

Cro7/CrY, Mnd " /Mn2™, Fe¥™ and Co?7/Co?™ 5 %8 3131 yHL(RId 6'@{5@.5

Question: Uleloaud 4218 8. duiell M3~ vistefl 1flod-55d Yotsla ulsHIHAL Y&
B.M. 8. [1%9)51l yulls]

Topic: Chemistry-Section B

Item No: 88

Question ID: 1569488

Question Type:

Numeric Answer

W5 Mslld Hlele185l5 HIES1EL, R-OH <il 4.5 mgell 215 «iieila (Hel16¢
A3 (21 wRSIESHI GRRAME 21 8. sflsndl q1ya &0l 53 dof 5¢ 3.1

Question: i ?
mL HIUGIHT 211, dl 4451d wleslelde] R IR g/mol 8.
(125411 Yuls)

Topic: Chemistry-Section B

Iltem No:

89




Question ID: 1569489

Question Type: | Numeric Answer

Qu qetl-dudl a3 & 20le] 21215201 5AMT M1, 5 ¢lds, 21 A w4 231

Question: Boj 6108 3wl 1] 5106 idR 2ei5H 3.25 em. 2.08 em e 1.05 em 8. A% Beil R;
Yedled| IRl 8. (1% 51l yuls)

Topic: Chemistry-Section B

Item No: 90

Question ID: 1569490

Question Type: | Numeric Answer

C<Hy, MR HIQetl 21Ese oS wleicll Mol oMl ycusileil 54 vyl
8. dsiily Aug2 sl 2Rl (12 5+1) Yails)

Question:




